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Major Paper V— FINANCIAL ACCOUNTING  — II
Time : 3 hours	    				Max. Marks : 75
SECTION A — (10 × 2 = 20 marks)
Answer ALL the questions.
1. What do you mean by repossession?
2. Ram purchased a truck under Hire purchase system on 1.4.2009 for ` 5,00,000. He provided 20% depreciation under W.D.V. method. He had paid down payment and 1st annual instalment but failed to pay second annual instalment. The vendor has taken away the truck at `2,81,250. Compute the loss due to repossession assuming the accounts are closed on 31st March. 
3. There are two departments in a firm X and Y.
Goods are transferred from Dept. X and Y at usual selling price. You are required to compute stock reserve on stocks of Dept. Y from the following data:
Gross profit Ratio of Dept. X : 25% on cost
Opening stock of Dept Y : ` 50,000
Closing stock of dept. Y ` 75,000
4. What do you mean by Branch debtors account?
5. List out the Adjustments needed at the time of admission of a new partner. 
6. The Goodwill is to be valued at two years’ purchase of last four  years average profit. The profits were `40,000, `32,000,  `15,000 and `13,000 respectively. Find out the value of goodwill.
7. Define the term Gaining ratio.
8. What is dissolution of a firm?
9. Compute shortworkings recovered from the following particulars assuming shortworkings are recoupable in the following two years:
Royalty ` 5 per ton of coal raised
Minimum rent ` 35,000 p.a. 
Output 2010; 5,000 tonnes
	2011; 8,000 tonnes
	2012; 10,000 tonnes
10. What do you mean by ‘Columnar Investment Account?
SECTION B — (5 × 5 = 25 marks)
Answer any FIVE questions.
11. Explain the important terms used in the hire purchase system.
12. From the following details of a businessman who sells goods of small value at cost plus 50%. Prepare Hire Purchase Trading A/C.
	1.1.2010
Stock out with the customers at H.P. price
Stock at shop at cost price 
Instalments due but not received
	` 
9,000
18,000
5,000

	31.12.2010
Goods worth ` 500 repossessed (inst. not due ` 2,000)
Cash received from customers
Purchases  made during the year
Stock at cost  at shop (excluding the goods repossessed)
Instalments due but not received
Stock out at Hire-Purchase  price with the customers
	

60,000
60,000
20,000
9,000
30,000


13. Swamy & Co have opened a branch at New Delhi. The following is list of transactions between the head office and the branch for the year ending June 30, 2010.
	
Stock a branch on 31st July 2009 
	`
 3,000

	Goods supplied to branch during the year
	48,000

	Salaries 
	2,400

	Rent
	720

	Telephone 
	200

	Petty expenses 
	 (
[P.T.O.]
)300

	Remittance to H.O
	55,000

	Stock on 30th June 2010
	2,500

	Balance of petty cash 
	20


All the branch expenses are paid by H.O. show the branch A/c in H.O books. 
14. From the following details, prepare departmental trading accounts.
	
	Department A 
	Department B

	
Opening stock
Total purchase  
Total sales
Closing stock
Credit purchase   
Credit sales 
	` 
9,000
27,000
42,000
10,800
17,000
5,000
	`
8,400
21,600
36,000
4,800
10,600
6,000










15. Suba, Rama and Uma are partners sharing profits in the ratio of 3:2:1. Rama retires and his share is taken up by Suba and Uma equally.  Calculate the new ratio. 
16. From the following information, compute net amount realised for different months in case of gradual realisation: 
		
	Debtors ` 
	Stock `
	Expenses ` 

	April 
	30,000
	14,000
	1,000

	May 
	17,000
	10,000
	2,000

	June 
	22,000
	Nil 
	500


17. Calculate the amount payable to the landlord from the following details:
	Minimum rent ` 10,000 p.a
	Actual royalties
2001
2002
2003
2004
	`
Nil
12,000
8,000
9,000


Shortworkings are recoverable out of the royalties of the next yext only. In case of strike, the actual royalties earned can be taken as minimum rent.
18. How do you classify investments based on their nature?
SECTION C — (2 × 15 = 30 marks)
Q.No.19 is Compulsory and answer any ONE from the rest of TWO questions.
PART A- Compulsory question
19. A, B and C share profits in proportion of ½, ¼ and ¼. On the date dissolution their balance sheet was as follows:
	Liabilities 
	` 
	Assets 
	` 

	Creditors 
	14,000
	Sundry assets 
	40,000

	A’s  capital 
	10,000
	
	

	B’s capital 
	10,000
	
	

	C’s capital 
	6,000
	
	

	
	40,000
	
	40,000


The assets realised ` 35,500. Creditors were paid in full. Realisation expenses amounted to ` 1,500. Close the books of the firm and justify your answer by narrating every step.
20. Mr. Anand purchased a machine from Balu Ltd. for ` 5,60,000, payment to be made ` 1,50,000 down and three instalments of ` 1,50,000 each at the end of  each  year. He depreciates the asset at 10% per annum on written down value method. 
Because of financial difficulties, Mr Anand after having paid down payment and first instalment at the end of the first year, could not pay second instalment and the seller took possession of the asset. 
	Open ledger account in the books of both parties to record the transactions.

21. The following purchases were made by a business house having three departments. 
Department A 	- 1,000 units 
Department B	- 2,000 units        at a total cost of ` 1,00,000
Department C	- 2,400 units
Stocks on 1st January were:
Department A	- 120 units 
Department B	-  80 units	   
Department C	- 152 units 
Sales were:
Department A	-  1,020 units ` 20 each 
Department B	-  1,920 units ` 22.5 each 	   
Department C	-  2,496 units ` 25 each
	The rate of gross profit is same in each case. Prepare Departmental Trading Account.
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